Programming languages answers
02.1 — answer C — only two of the examples are low level

02.2 Maximum four marks from:
* High-level languages have built-in functions;
* High-level languages have built-in libraries;
* High-level languages have more support/help;
* High-level languages have structures (such as selection and iteration);
* High-level languages can be less machine dependent/more portable;
e It (usually) requires fewer lines of code to be written;
* ltis (usually) quicker to develop code in high-level languages;
* ltis easier to find mistakes in code;
* The code is easier to maintain//understand;
* ltis easier to structure code in high-level languages;

02.3
A = Compiler
B = Assembler



